DISTRIBUTION OF NATURAL NUMBERS:
N\{1,2,3,4,5,7}=
= (GN + {01213I4151617}) =

= ((12N + {0111213i41516}) U (12N = {11213i4i5}) U {6}) \ {7}
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N2 = (12N +{0,2,4,6}) u (12N —{2,4}) u {4,6}
N2 = {2} X {2V x {3NU0h x {5NU%h x {7NU%h X PU X (PUXPU)
N3 = (12N & {3})
N3 = {3} X {3""h x {5"v% x {7N*{%) X PU X (PUxPU)
N5 = (30N & {5})
N5 = {5} X {5"%} X {7} X PU X (PUXPU)
N7 = (42N & {7})\{35}

N7 = {7} X {7"""®} X PU X (PUXPU)

(PU u (PU X PU))11 \ {1} = [(12N - {1}) u (12N + {5})] \ N5

(PU u (PUXPU))13 \ {1} =[(12N + {1}) u (12N - {5})] \ (N5 u N7)

N ={2,3,5,7Ju N2 uN3 uN5uN7uPUu(PUXPU))




